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Christmas Addition

Solve the following word problems.

Santa Claus has 300 candy canes. He gets 200
more from an elf and another 100 from Mrs. Claus.
How many candy canes does Santa have in total?

There are 250 red Christmas lights, 350 green
Christmas lights, and 150 white Christmas lights on
a tree. How many Christmas lights are there in
total on the tree?

In a Christmas party, 300 cookies, 100 cupcakes,
and 100 slices of cake were served. How many
desserts were served in total?

A boy receives 300 dollars from his parents, 250
dollars from his grandparents, and 300 dollars
from his uncle for Christmas. How much money
does he receive in total?

On Christmas Eve, 400 children visited Santa’s
village in the morning, 330 in the afternoon, and
200 in the evening. How many children visited
Santa’s village on Christmas Eve?

A Christmas charity event raised 500 dollars from
a bake sale, 200 dollars from a carol singing event,
and 100 dollars from a raffle draw. How much
money was raised in total?

A store sold 100 Christmas trees on Monday, 200
on Tuesday, and 100 on Wednesday. How many
Christmas trees did the store sell in total?
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